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Exam Time : 01:00:00 Hrs
Total Marks : 114
I. Answer all questions 114x1=114
1) 10 cm BerpemnL_wl Hevor(h) 6Tml, 10 cm GlWSSTTLD Q& meooT G 219U 60T (NG 6TEnLD 3 FFI6L meUGHELILIL (H6TeTMS.
GH600TIQ 60T ([H (emeT &Lolawlquiledr (wpemeTuledpbE 20 cm QFTemevalel @ hHSH TV, FenL &G LINDLSS 6T BT eTeoTeor?
@ 25cm (b) 5cm  (c) 10ecm  (d) 15 cm
2) Blema@QuimLiL] LevorLNementl QLIMM (Isotropic) 26aml_&& & 6T UG QF6uaILd sperfluflest Geussid, LI6oTel (H6U60TeU M MIGT 675 60)60TEF
FMIHSI6TETSI?
(a) 96T eaflgFQamle] (b) G6T SjemeubBerd (¢) LUFe D Setenln (d) 2o1_ &S5 QUTHSS! 6flelnevs T 6T @) UlSHELN
3) GNWGSSTTID f Q& mevor &6ellylquiesT (WeTUMEHL QUITHE 6T Term enausasLILL (BeTergl. QuUiflgmealiul L Quoul Kibuwm
Ren 55 Caleor(hGLeoflev, GallaLlquiledBiHa QLITHeMET 6n6l8s Galeoorlql QLIHLO LDMMID FIMING GFHTem6V6|&H6T WITen6l?
(@) 2f nmmib ¢ (b) c MM o (¢) fMHMD O  (d) CMHSHETTL 6TSI6|Ll6vem6v
4) srHMeSmH S eerflalleusey 6T6toT 2 GG MEUoTL. &600T600T ML LIL L &5 & 601 158 el ell(&m& 6T60fl6v, FMEHSH WILDMET GILIHLD
616V& B & MTeroT S H) 60T LOG)LIL| 6T6OTE0T?
(a) 30° (b) 45° (c) 60° (d) 90°
5) &smmmlev, speflulledT HenaCaus b IDMHMILD jemevHeTd MG V, LoMMID A,. @65 CLIMETMI 56001600 [f160 Vy, LDMHMILD Ay, 6T60116D,
& 600T6001 11607 6261 1616V &H 6V 6TEvOT 6TEOTEOT?

A

2w
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@ 7 ® = (©
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() ¥

Vw w
6) LletTau(peueoTal M MI6T 6 600TLO60TE 6T LAl 60TenI 61 & M &5 Me0T & IfIWLIT60T &5ITT600TLD 6T
(@) eerfl etT®QpmeflliLy (b)) WW 18 aHpmeflliLy (¢ eefl allevsmey (d) FHemellemeneay

7) eerflafleudsev eT6oor 1.47 Q&MevoTL. @ (HLIM G 6V60TeN eRedTmI HT6ULD 6p60TMI6VL CLOLDE, FLOGEIT &600T600T TS &H&5(H GLITeTM)
QWM& M eTevflev, HTausH e eerflallevasev 6Tetor @) (HE 8 Geueoor(HLD?

(a) eeatammellL& Gemme| (b) HevoreoormTigemUeL& GemmeuTd  (c) Gevoreoorigenwlail H&HLI0MS
(d) &H600T6OOTITI)&GSGF FLOLDMTSH

8) sperflaleuds 6y 6T600T n Q& MEOOTL 66L& LD 261555 6T aUNICW QFeaD 6flEEH T, STHMINBHa @Bs 2o &&5amsLl LNflé @l
FHemsH 6 15g 45° CammerorsHlev l(WhHE (DWW THQTTaTlLIL e Hmal ereoflev, n @) 60T DG LIL| 6T6dT6OT?

@ n=125 () n=133 (c)n=14 (d n=1.5

9) LemL & G 6v6iTeny ep6oTM6T Uemema L ILITLILNGIT alemernea] QLD 10 cm. GLosild, 9560T sperflefleuasversvor 1.5. &ellQ 6v60T & 6T
SLemL LiLglller g Qeueerfl LLELILIL LT 3H60T GG STy .

@ 5cm (b)) 10cm  (¢) 15cm  (d) 20 cm

10) eperflafleuas6L 6T600T 1.5 Q\&IT6U0TL 85600T600T TG L1 LIL L&D 6p6dTMIeI6T STMHMIS &L 660TMI 2 6T6mgl. (QFHIGHSSIL]

LG SHTHlemesHE 2BHH6V) h LIGSESHmHHEH LMTTEHGLEUTS, &TMHmIs GO 5 cm QLPSFHID, IDMEMTIH L&D eublulms
LIMF&H@&WELMS 3 cm QLS HeID 2 6Temdl 6160116V, &600T600TMIQ LI LIL L& &) 60T S51qL060T 6T60T60T?

@ 8cm () 10cm (c) 12cm  (d) 16 cm
11) eperfluflest @misSL_HILI Lievor Lllement QaueflliL(BSSHID BlsGpe

() &M&SEL (0 alemere] (b) afleflib ellemeney (¢) eeflFFsmev  (d) FHeTalemerney
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12) &mmmMled BbS! 8600T600T T &G LD, &THMINBHS BHHGID QFuald 6fleEaH T alleudHevemalemd LIL LD (i) LoMMILD(ii) 6V
S LUl (heTergl. LLLD (iii)6v sl ULl (heTer eerflafleuseT §-60T LDGHLIL]

(@ 30° (b) 35° (c) 60° (d) 41°
13) 20 m/s CauEHSH L (HeUT FING6T l9enll CHTHESR MR MTT. el QUTHSS! LNbuSHer Geussid_
(@ 15m/s (b) 20 m/s (c) 30 m/s (d) 40 m/s
14) @\(H FLOSH6T IQ&HEHEG @6 LI L Gsmeoord 30* eummMIM &L Gl QILITIHET 660TMI 606aUSSELILIGSRMS. 2 (HaUMTEGLD
LNb LI g erfl 6o eTevoTevnt 15608
@ 12 (b) 11 (o) 10 (d) 13
15) er&QmeflliNeormev QuUMLILL L LU 2 (BLUCLHEHSD SiemL b Wmwl LDULTEe|LD 2 6Tengl eTeoflev 3jemlnliLiley 2 6Ter

SR

(a) Y <g LG (b)) Gl <plg LWL () FL T iy (d) GU LG s Gall 219

16) 20 Q&F.15 aUem6Te] ST 2 6L U @@ Gl 31qUN6dT (LN6dT QLIMTHET R60TMI MEUGHHLILOSMS. 5607 LINDLILD Q19 85GLI
NeThymLd 8 Q&F.15 Qg memnevailey 2 (heumHM&. QU616 Q& mTeneve

(@ 20cm  (b) 40cm  (¢) 60cm  (d) 80cm

17) 58680 e@6rmléy 6 Q&F.15 2 WFEHH60 2 6TaT Hreus T e 211q.ullev 6(H HITeooTWLD 2 6Tendl. HIeusH e serfl ellevaev eTevor 4/ 3.
FrausH et GLMUTLILIMNG G @UbHE LMT&HGLD @@ LMTen6l Ul TeT(Ha @ HIT6ooT LD 6Telalemea] 2 WD 2 WIbhg &meoor LB Wn?

(@ 4.5 cm (b) 6.75 cm () 1.5 cm (d) 7.5 cm
18) Bifletr 2_6TC6T @) (HS LD LS6tT epetTmy QeueflliLiMm 2 0B 50 R UL L 6UlG6ID FMETFLOMS LUMJHGLWD LeTmerg /7 m o085 6v

@) (&G LOITEOTITEL Sl ST QUL L EFTOTTSHSH 60T QLTLD 6T6OT60T?

(@ 3m (b m (c) V7 (d) 3v/Tm

3
VT
19) 10cm @GNWSTIWenL W 6@H GL @L1qul6dT (6T emeUsH&LILL L QUMHerler Qul LU Qumerfler GLe6) HITeTE

LOL_MIGTEOTITEL QILIM(HerfledT Q& memeve

(@ 7.5cm (b) 12.5cm  (c) 20cm  (d) 15cm

20) /2 sp6rfleleud 6V 6T600T Q&G TEOOTL. 62(IH S>600T600TITIY. QIFeIAIGLI LIL L &&H 60T 1581 45° LHICHTeoTEHFH60 efl:aH T eettml alWHRmS!.
R Qumeflliys &S T wmmib ellevd & T B WeuMMIME&G @60 Cuiulmeord G8smeoorLD

(@) 75° (b) 90° (c) 105° (d) 120°

21) 22 eperfleflevd 6y 6T6o0r QG MTEvOTL. C&MTeTSH 618 GHevoreoor TIquUiev e(h LeTefluiley 60° LGCHMaTEHFH 0 (Wb aflevswenL &Sl
GHMaTEHSHevI6T CHIMTH QF6TM VGERT THTLILEHSFH60 THQTmaflliLn ellevsHad LB MmSI. S bHSLILTLILI6L
TRQmeflliL& &HHHGLD al6V&HEHH [HEEGLD @)L Gl meor G meoorLd

(@) 50° (b) 60° (c) 90° (d) 40°

22) 1m 2_WJIpenL_ U 6(H 66T @ &6l 3blq.ufledT (LnedTeoTTev BI1M GedTmMmedT. QU6 BHSEH 3j6U6edT BIMHEGLD GG TeM6V6)]
GAWSSTISH M&GE Fo. LNDUSH 6T 2 Wiyl
(@) 0.25m (b) 0.33m () 0.5m (d) 0.67m

23) HreusS s TeL BIFLUlUL L LT8H8 K6 919 LGS Ul6v [HIT6ooTUILD 6R6TmI 2_6TeTSl. HIT6oor &S H 6N BHHS alhLD e6rfleHsSH [
FrausH et auPlGW LiwenlH8 HrausHer Cmurliliear autflC QF&Hmal. HIasH e QFeualld e6rfl&HaHE fleor GaudhLh 6T6oT6or?

(@) 2.4x108m/s (b) 3.0x108m/s (¢) 1.8x10%m/s (d) 3.0x 10°m/s

24) 20cm Heren LW @@ &H60oT(h 10cm GeIWSTTWenL U @ G 31q U6t (LN6T 66U ELILIL (H6TeTSl. 3blqUIN6dT (LM 6ITE &
&H600TIQ 60T 62 ([H (66T I UINSBHSE 15cm QG memevailey 2 6Temgl LIDLISH 6T HeTdHems 8 5 MevoTs

(@ 15ecm (b) 20cm  (¢) 16cm  (d) 14cm
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25) 2 &L 21 UINNBHHS x QHTeneVallel CILIMIHET e6oTMI 2 6TemGLUIME! 3 LG QUFlgmer Qo LNDLLD 2 (Heumergl. QLITHem6rT
(x+5)cm Q&MeValMGS BHTSHUCLIMTE LNDLISEH 60T LOLMBIG 2 6T60T 3,60TH 219 Ul6L GalWGTTLD
(@) 15cm (b) 20cm (c) 25cm (d) 30cm

26) Q&MHSHSLILLL LULSH 6, FIng6T Gall@eveTeny L0MMID FL0G6T GG 6v6Ten L& UIaIMHNIET alemeTe| QLI 10cm 26meal
@ revor1q.607T sperfledleudsev eT6uoT 1.5 QlevedTeny AULBIGW QFLAILD 66l &H&HT &6 6T emenTs S aleVEHEN&GLILINMEG LU G&meTmilD
Q& Me06V6Y

»

—
|+

(@) 15cm (b) 20cm () 25cm (d) 40cm
27) &mmmlev B GNWSTILD Q& TeooTL 2(H G Slgemul eperflafleva ey etevor QasmevorL BIfleL emeaUS STV 2G560T GNWSSTTLID
ol e
(@) 3 (b) 1 ° -

28) QeVEITF 6T G M6vfledT 6V ES
(@ euml. (b)) &BOISHMeT () LWL  (d) eusen

29) 6¢cm QUEMEITEY LITLD GG TE00TL &>600T600TTLY. G& TS B 60T eMLOWLISH6V ([ L|6Terl QUITIHET 606U SLILIMSHMSI. & 600T600r TLq.ud 6o
eerflafleva6v etevor 1.5. Camenas Ll LTLILNeO(BH S eTelalene] Qg menevailey WmuilbuLb G&meTmin?

(@ 2cm  (b) 4 cm (c) 6 cm (d) 12 cm
30) 20cm Gl Q& TemM6VE| Q& TeoTL. 62(H FLD &R 6VEITEN ST (NEHI EFFHEG QFHIGHSTES SHaTshH e @ LNiflesermas
NeteslU@SBmS. LUHSTEH 2 [Heumeor GleveTengerfler &allls0 & memneva]serfler S&Hea)

1
(@ 1:1 (b) 1:2 () 2:1 (d) 2;5

31) QUTHET eaTHIMHGLD NflHEGID QeV6aTeN RETMIMGLID QSMTeMeV6] GaU6TH T Galllgs STTHNSL] GLIMTE 4 LOLMBIG 2_6T6emgl.
QeVETEFM6L 2 (HUTHSLILMGID CHIHCHTL(h 2 (hLGLHSHSID THMGEF FLOIDTSH @) (HSHGSLD?

1 1
(@ m (b - () m+1 (d) ——

32) %(z +4/37) eteoT Hlem&Fuleh QFLID R REMESHHT FLG6T 9l eTMler s eNWEMS. rHQTTafli DG et
61188 S 1fl 607 @m&é(i - \/§3> 6Teoflev LI(HGasITEuoTLD 6T60T60T?

(@ 30° (b) 45° (c) 60° (d) 75°
33) sperfl Bjemev 6T STHNMIEI[HIHS & 600T6001([HE G 6T ClEFLIDCLIMS 3 emeuuiledT eTLILI6ooTL| LOMMITH(H&HEGLD?
(a) Gausld (b) efFs:  (0) UG FTQeustor (d) yemeviBerid

34) TG 6T &6 G6V6iTeN eetTMIET el L LD 6cm DSHUND HLlL06T 3mm, GeveiTery QUIMBerflevid sperflulledT Gaussih 2x108m/s 6Tevflev,
QuUeTH 6T GeNW TN

(@ 15cm  (b) 20cm  (¢) 30cm  (d) 10cm
35) BLDE5600TL 6)600T600T RIS 616V (LOLILIL L &H&5F60 618 AH &M 616V&H6060)L_UL|LD?
(a) wehFer (b) HBeud (¢) LFeMEF (d) WTEHSF

36) 21cm GNWSESTTLD Q& meoor GNQeveTE 6T 14cm QS Menevallev 3cm 2 TN 6(H QLIMTIHET 6meu&H&SLILGS MG, LIDLS S eor
9 _WIJLD 6T60T6OT?

(@ 84cm (b) 1.8cm  (¢) 3cm  (d) 4cm
37) 21cm GNWSTTLD Q& mevorL &G eNlQ6VeTT 6T (LNETEITTEY 14cm Q& Memeveiley 3cm 2 WIFLNemL W @@ QUITIHET emeU&H& LGRS
LNDUSSH 60T 2 WIFLD 6T60T60T?
(@ 8Acm () 1.8cm (¢) 3cm  (d) 4cm
38) &euoTeooT LY. (DUILL L &SHHMS (n = /3) FmIng HenFnmmme C&Hmeoorld (WPLUILLL &H&H 6T CHMeordHH M&GF FLOWD 6revfle,
WU L5563 60T G&IT6uorLD
(@ 30° (b) 60° (c) 45° (d) 90°

39) /3 aperflalleuas6v 6T600T Q& TE0OTL. 62(H FLOLIG S (NE&HCHTE0TL! LILL &HSH6 § CHMeoordHev all(Wld LOQ&SH T UL L &HSH 6V
eV IHS L16T & LI L&ESH 6T I LILSEHSH MG @66 meHF QFHRMS. LI GCaHMeorid § elledr D&HILIL]

(@) 30° (b) 45° (c) 60° (d) 75°
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40) )l GssmeooT(Lpem LW (LU L&D Py ulledr G&meorid 4°, 915607 sp6rf] efleudsev eTeoor 1.54. LDMQMTH Fpdlul G&s mevor(LpetL_LL
WLILL L&D Py 1.72 eperflafleuds 6y 6T600T Q185Me0T L QILIMBOTTEL 2 (HeUMEaLILL LGl @0 WUIUL L &MBISEHD CFIHS 2 6Tem GUIMSI
R6fl&EaE T eraualls alleveHsvd 3i6emLWelleuemney 6Tentley Py 6ledT G8smeuoTLn

(@ 5.33° (b) 4° (c¢) 3° (d) 2.6°

41) 1.0m GANWSTTID Q&TeooTL 62(H GeG6V6tTa1D 0.25 m GNWSTILID Q& TeooTL 2(H G 6V6TE LD 0.75m @emL Qeuerfluflev
D _GITeT60T. 62(IH @) 6M6toTSHEHTT &l Gleveiterv LG NWHRMSI. @) (H GleveiTervgeflain aflevamevemnLbs LT QeueflGmID &H T

(a) WERW F&HEG @emeoTWME: QHEGL (b)) Gl () el (d) @emeu 3emeTSH SN @)6Veme6y

42) e(Ih eUMenflIeL QG MeMeVEHTHRITEV QUITIHOT(HES G eVeTF 6T GNWSTILD 40cm, LDMHMILD 85600T600T([HE GlVETF T GIWSTTLD 4
cm. 200 cm Q& MTeneValaaTem QUIMTIBem6T 2 MMl GBITEGSHMEH,@)[H VTS EHE G 6T @ (HEHdH Gausoriqul @enLQeuerfl

(@) 46.0cm (b) 50.0cm (¢) 54.0cm (d) 37.8cm
43) 5000A° gjemevibernenl_l eerflé@ 10cm el L(nenl_ Ul @ QleveT& et Gameoor L ILNflenss Siemnuld auflens
(@ 10°rad (b) 102rad (c) 10%rad (d) 10°rad

44) e WWUILL L&D Qumerfler eeflallevssev erevor /2 (ALILIL L &SH 60T eflevd @& Gssmetortb 30° aflevsd & (NS MmIGeTlev eeiTm
2 6TUSSHLID THQTmefllL] Q&EUIWLDMM QLI UITEY 60T, eMenm BIM eefldsmenm eeTml IDMAMTH LuSH 6L ell(Wpbhsl
VBB U 6T LGS Hev elWCUME 918 QFaTm Lmenguller allblGuw SLUIL SjeiuiulLmev, LGS meoors S eor
LS

(@) 45° (b) 60° (c) 0° (d) 30°

45) GflwenTmerrgl 2 SWHHMHEG FHM 6T Qs fleugsH&LWD, GIlw wenmellMGL eTyb FHmiGhrn sKlaugshE&h
& TIJ600T LD

@ ww s a@ymefliy (b) eHapmefliiL (c) seflallevsdey (d) FHerallemerey

46) LYeTeu(mLD BIMMIGH6TleL QUIBLD CeUsLD Q& TEIoTL S 6T&I?
(@) eargm  (b) Aauliy () uFensF (d) MeTSSID RCT HeMFGaIGHLD 655 T600T L 606

47) @ evor(h @)60)600TLITEOT &FLOGH6T 1Q&H6MTev ML LNbLImigerflesr eTevotevol1&6mas_
(@) wuefeor (b)) &l () 3 (d) 8

48) wmkl @rLemnl Ll Lemay opulellev LN6Te)&HEH5HE @ 6L GU 2 6TaT Q& Memeve] @MHLBSTESLILUGSMS. Henruilsy G5 mermiD
LI 6oL S|&6VLD LDMMITLO6EY @) (HES GeuetoT(H @ NeTlsn, LN6me&s6eha G HensGh @)L Gl 2 6TeT Q15 Temeuallel D 6Teleal6Te)]
@ Mm&H&H Geueoor(HLD?
@ 2D (b 3D () v2D (@ 5

49) sInGAWS QFTem6V6] 2 6T6m Gl QevaTHlerT Gels GFHTem6eva)] f QeveTameradl A B aulfling Qeul L UUGW0 QUTWS!,
@60 aUMIH UTHWleT Galllg QETemevalmeTs_
@ f/2 () f (c) 3f/2 (d) 2f

50) @(H QSMTeVCHTERUNET 2 (BLIQLIMHESGHS Hmer

26 +6
(a)ﬁ (b)@ (©) f (d) fot 1

fO fe fO 2
51) wil @rLlenL LeTe] GFmgemeruilev S;. L0MMILD S, eT6dTm Llemeysefledpha Geusflau@d eerfl 9emevseT Hemguiley P LommiD

Q- 8 LU CUTEI SjeumnleT LIMemg CaumiLim(® WemmGW 0 LMMID /4 eTeoT 2 6Tem GUIMSI LMMILD Q - aflev sperflufleor
Qemleysefler el gD

(a) 4:1 (b) 3:2 (c) v/2:1 (d) 2:1

52) @eNWaETIIOLD 25 cm Q& MeooTL @(H Gl eveTe 2G5 GaNWSTTID 2 ML IDMHOMITH &L 6V6dTS L 60T 6260TMIL 60T 6260TMI
QSMTL(NSHQ&TETEBLD Blenevuiley 2 aTengl. @\H&HE Fnl LennlILNeT Smeor, LWMLILT 36056V

(@ &l (b) 25 (¢) 50 (d) oo

53) @ FOSET 9HEHHEG Q6L LILILL G&HMeorid 70°. (P&H6L I uilet g § GaHmeooTdFH6L el LIGSHT eTHQmerflliL
LGS @uevorLmeugl 2plquilev UL, eTHQTmeflliL] MBS (NH6V 19.85E @606 WTEH QFHMSI. -alledT DG LI

(@) 45° (b) 30° (c) 55° (d) 50°

54) (hEUIIT6V 50cm LDMHMILD 400cm Q& TeN6VE|&HETIL HMNGH QUITIHLSEMET LIMTTEHS (DIYHMmS. eursg Umjeneuenwl BL 1955,
FMLEVT QHTemeVall6L 2 6TeT QLITIHEMETUD SIEUTTEV LIMTT&HEHF QFUIW, Sjeu] 3j6voflul Geusoorlq.ul GleveiTen

(a) +2.25 LwmiLy Gell@evesterv  (b) -0.25 LWMLILT &WEeveTery  (c) -0.2 LWmlILT &LlQ6vedTery

(d) +0.15 LWL &elGeveren

Kindly send me your answer keys to us - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

55) 10 cm GNWSTILD Q& MeooTL 62(h G 2 IquNeNBHS 6THE Q& Temeva|&eTlel @)\ (H QS TeM6EV6 GH6T FMEHUILDTETS GLIMTIHE6T
MeUGS S5 ML LNDLIGH 6T 6me @ HLOLBISTS @) (5 ELD?

(@ ScmwL@BW (b) 1I5cm LB (¢) 5cm Y6evevd 15cm  (d) 10 cm WOL(HID

56) G 1 U6t QSMemeVa] SMealln QyUleleh u WMHMID v AHWaIHPIHHR ML GW auemFLILLD 66eTm alemFWLILGS M.

Y] > 7] >

GUEMITLIL LD 6TEUGUTMI @)\ (HEESLD?

(a) | :’\ (b) ){l/ (©)
L

=
—=<

U—
57) aureotedlev G meoTmILD Bl&LpeNeL, Brsaiefluller g ellwpld GHlw eerfl eefluller eTh& allemeTe] j6mL_UD?
(@ mlouliflens (b)) W 96 aHarmeflliiy LG () BImUNflens WHMID WW 315 dHQFmerlliL
(d) eTgialh G evemey
58) eelfl&F FlFHmev emL WD eperfl Sjemev&erflet QFMley NRHLD 1: 4 eTevfleb emeuderfledT Sjemev Hermiserflerr MBS
(@ 1:2 (b) v/2:1 (o) 1:1 (d) 2:1
59) R&G &H6V0T600T TG UM (ng = 3/2) 2 GOUMSESUILLL @@ &FL0 GallQ6v6iTe&6T eelGleumeT M6t GellWSTFULD f. Hemeu @) Fevor(HLd
RETMIL 6T R6TMI QST (HE Q& TEor () 2_6TeTSl. QLTS EHEHE @eOLGW 2 6Tem @enL Qeuetluiley B (n, = 4/3) 2_dTeng!.
Fal Lemlier GelWwssTrn
(@ 3f/4 (b) £f/3 (¢) £ (d) 4f/3
60) GevoTe0l 75 SleflEHeT pefledl_ 9emL W& QFUIaISTL aumeralle) CHTeTmISH M.
(@ Blouflens (b)) UGH Sarallenere] (c) Weusid Seartallemere] (d) GMIEEL () allemerey

61) 2(p R6flGEEITTeTE 1.541 sperflafleuds6v eTevor Q8 MevoTL. HQ TemedT &6vorevor MU BHSI STHM 26TL_&55H MG 6T serflallevdsev
MLHMSI. 15607 LI{HECSTE00TLOMETE LOTMIBlemevsd G&ITeoorld 40.5° &@ FLoLD 6T6evflev 2i&60T ellevE G8sMevoTs & 6T LOGHLIL

(a) WTMIFBleMeL CHETEOTSEHMES FOWD  (b) LDTNIBleM6V CHTeoTSnGL S Gmme| (¢) 90° &@ FLoLD
d) Lrmipleney Cametorsemns alll I H &I
62) FInG6T QUM LIFHLeN&SELILGIMD e6rfl QU LIDLSNS 6THS @LLBleneuuiley 2 (Heums @&LD?
(&) opiquier s WD &HFH6T allifleuemLwld GuUmal  (b) iquier g LG &S FH6T GallsaslLmBWn CUTS
() WQHS W& MRV QUITHET mausiSLILRWM CUMS  (d) 6hHS GLBleneuulain © 60T T&MS.

63) 'h' 2_WIFLNEITET ([ LD6OTIHT 62(H S6voreoorTIQUN6L auTg (DWW LINDLSS U LD &Teoor GeueuoT(h G LDevflev, & evoreoormiquiledr Wiy
GOMHSLILFID @) ([HEHE CeUeoTqUl |66
(@ h/4 (b)) h/3 (¢) h/2 (d) «

64) e WleTaNes: & @HFGET I95HEG @)L UT6v 60° CHTETEHH ) FTUIHSIGTETSI. 6T6d 160 2 (HeUM@GLD LILDLIMmIg6rfleoT
6T6DOT600T 1 &5 60) &
@2 (b)4 (95 (6

65) @\(H FLOGHET LI &H6T 72° 6V FTBSI6TemeoT. @ UMMM &L G 6m6aus&HLILIL (6T p(h LeTerl GUimeorm LD L& erfleor
6T600T6001 1 8600
@2 ()3 (94 (5

66) FL0G6MaLLq.UN 6T (LN6TT @@HHS! 0.5m Q& MTeneVailey (H QLITIHET 2_6TeTsl. QUMTBHEHHGD LNDUSH MG @6 Gl
G & Mem6V6Y

@ 05m () I1m () 7m (d) 8m
67) ([ FLG6T I UileT I35 6fle &HT GHHHTH alWHRMS!, ereflev allev@ G mevorn
(@) 0° (b) 90° (c) erHQumeflG&ELILBaHvemer (d) gaidlevemey
68) FINGET U6t 2 BLIGCLIHESHLD
@ -1 (b) +1 (0 & (d) 0 MHmID + &G Gl
69) e Flw rwbud Casrmmeliiug_
(@) uTeuemeTw SHevotevnr Ty (b) @ell @y (c) GWl @iy (d) ggibleveney
70) Q&TH&ELILLL @ LeTerfl allems @ enevs M & LI 6Tl [Heusorel M6y 6TEl @) 6 600T8 M6t M 85606 2_(THEUTE G0 ?

(@) &l @ (b) Gl g (0 G Qevers  (d) 90°6L FMUHSIETET QBEFDSET SLq.86T
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71) @ &6 Q. @ QUT@H6TleT LNDLSmMS 2 (HeuTHGRMS!, 6Tevtlev LIeTau(BLD Fammley 618l &eumi?
(a) Wwbuwmerg GelWsSH MG emWSH MG BHIG 2 (haum@Gh (b) WbugHer emey FmMlwgl () GmImeor LIDLILD
(d) Quul Nibuib
72) (B L19UIN60T (6Tl 30 Q&FLS. Qs Temevallev e FlmiaueT BleoTm([HEH MITET. 6U6T STemID LIDLIDTETS 2 _600T60D 2 U TS5 60T
1/5 oemailev @IBLILIEMNSE &IT600T T MITEOT, 6T60T16V 6T6UEU6DSH UITET Sblq.emUl LIWeTLI(B &S @) (HLILIMeoT?
(@) FgeT 9lg (b)) Gl g () G Qevetra:  (d) FGeT Gl Splg

73) @ &L 21 UIET eUemeTe] QTN 36 Q&FLS. @&6TMeL gMLIBID MW LIDLISH 6T 2{6T6) GILITIHen6TL] GLIMTeTM 3 0L GG 6T60fl6L
21U BHE QU6 Q& Temn6ve]

(@ 551 () 12 Q&S (¢) 10 Q&S (d) 20 Q&L

74) 5 QFLS 2_WIFLOETET @ QUITH6T CaHmens &GLHl 2l uilledmhal 1 1S QFTenevailsy emeudhaLILIL (H6TTSE. lemeTe| QLT 20 Q&LS
eTeofleL LNDLIG G 6T 246y

(@) 0.11 @& (b) 0.50 Q&S (c) 0.55 Q&S (d) 0.60 Q&FLS
75) YetauLd eTbBlemeuuiley ep(h &Gel 2blqulleTmel 2 (Heum@GLd LU QU GeneT el SH&IDMS @) (H&HE&HLD?
(@ p<2f (b) p>2f (¢ 1 6T YMTHG INHLILIGHERHGWD () pedr 6ThS HLILNDHGLD @ evemey

76) (I LI6L DS SIeUT LWeTLBSSID 6(h FInlwl 2419 LI6vedlediEg 0.60 QFLS. Qg memevallev emeudssLiLGID CUTE gMUBSSID
2 BLUALIIHESHLD 4 6T6oflel QL1 U6 6UEMETE| 3 TLD

(@) 1.60 Q&S (Gel) (b) 0.8 QFLS (W) (c) 1.60 Q&S (GYW) (d) 0.8 Q&S (Ga)
77) @HIQUNTen WS H N BHE FHTemevaley 'f @Gallll STTwenL @H G 9 lquiledr 95FF 60 GMIS W LLFsemL W 1 Herid
2 LW 6(H GQUTHET emeuSSLILGSMS. LNDUSH T 6m6] @FHME FLOLD
ik pf1? _f 112
@ =2 e [ @] @]
78) (M &6l SlqufleT WPEH W GANWSHMHGSLD eUm6Te] MWWSH MG @ CUl (NEH U SFF MG @)60600TWLITS ([ LigemLudlesr
&(H (LNEMET @ (HSGSGMTMI MaUSGHLILMSR S eTevflev LNDLSH 6T el
(a) seTFgkITD (b)) &Her QFalausd (o) LTUUml elgeld  (d) 2 @HeneT allgelld

79) e LjeiTerf] aulg el QUTIHET 24 QFLS Gell Q& meneva enl_ @@ GY 31quieT (N&EHW FF 6T 158 BHTRMSI. 1quled®BHal
60 Q&FLS. Qg Temevalley 2 6Tem GLIMS H6T HenFGalsd 9 QFLS/6N. 9hs CHIESH 6 LIDLSH T HengGalsLd

(a) 5 QFS/all glgemw CBHTEHEE (b)) lgemwl CHTEHES 4 Q& /el (¢) WIQuIdBHE 4 QFLS/al alle &
) euiqulel®HE 9 AsLS/6f el

80) 2(IH H60T FHITEHH60T LIGHSHID 2 1. & G 19 UT6V (LN6OTETITEL 66U S LILIL (Hl6Tendl. QUi GelWSTTd 1 LS. &eordF S8 5 60T
P eTedTm (NS0 3 1S QG memevallaviid, Q eredrm (P& 2l uedlmb sl 5 LS Qs memevallevid 2 6Temsl. (&L P iommitd Q Lk erflest
@6MLGCU 2 6T QG MTEM6VEY, eUMMIET 2 WITHIGHET 6T60T60T?

(a 115,0515,0.2515 (b 0515, 15,0251 (c) 0.515,0.2515,115 (d) 0.025LF, 15, 0.5 L5

81) aUeM6Te] QLTID 60 QFLS . Q&TeoTL 62(H GOl 2blq 20 QFLS. LPSH ) MeUSHELILILHI6ETENS. IQUIET ANFFEHSGHHTH 3|5 60T
W& Gl CHMESR emals&ILGRMmE. BT LFLLer s G55Ms Gl eefl allwbCurg ibulh 2 GanssLiu@Smgl. p =
4/3 Bifleot LUFLILNeNBHE LNDLUSF 6T G5 Temn6eva)]

(@) 30 Q&S (b) 10 Q@FLS (¢) 7.5 QFSHSGS GG (d) 7.5 QFN&HEG HCLH

82) eeflG&H T eeedTm Frment Cauds s 6T A WIedHHS BéHE& LWl l&HmE. LmeansulleGL XX LFLILIme
aRQrmeflESELILGIME. HHT L1685 &Genmbs CHILILITNS

@1 M2 (©3 (@4

83) 2 G 9 Glwsen_w 7S fled;pha bl 2 (Baunss 2 Q&L Qg manevalley emeaussLiLBSH M, ereoflev_
(&) sl 6 QFLS UEM6TE| LTI 1q
(b) WEHSHOBHS 8-10 QF LT QGHTmeVaNl6L FalE &e600T6e0oT T WITES LIWL6T LRSS ILD.
(©) 918 12 QFLS Q5 Temevallel MaIGHEHLILLL @@ QUTIHET (d) @)6melllenersSin

84) e LJ6iTerfl QUITBET 0 @) (H FLOGH6T 195 EHEH LG emeudH & LILIL (Hl6Tendl. My elled(BHS FHT QS Ten6eve] 2mm, 6760160, M,
aImev gMHUGID (N&6V eneTml LDk g erfler Q& memevey

(@ 2mm,8mm, 18 mm (b) 2 mm, 18 mm, 28 mm (¢) 2 mm, 18 mm, 22 mm (d) 2 mm, 18 mm, 58 mm
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85) eperfl aM6V&H6L 6T6voT 11 62(IH BTG H 6T QST IQUNT QUL FINGET LG MEUSGSLILLH6TETS. 31985 GHGE6 h 6T6Tm
2 WISH 6L emaussLILL (B 6TeT P eteotm SFlmilul QUIMTBemneT HTausH MG GeuelGu P 6@ GG GH5MSH eHeUd 2 Mmi
CBTEHEGRMTY. 2 uiléy P iommid LNibLgGens smesoreumid. @ euailFeoorigMGLOlenL G CHMTMME QSMemnevea]
@ 2h (B 2 © 2 @ h(1+1)

86) 62(IH B>600T6OOTITLY. SH&L_1960T @H LMD QeueTer] LLFLILIL (Rl6Tendl. H&eTS& i = 45° ullev M LMEH6L 6flEaH T LGS M.
&Hevoreoor TIq U 6ot eperflafleuas 6y eTetor 1.5. H&L_1960BHES QeusflauBCUTSE 156 LUMTenguledmba gouU®GD elleusisin

(@ 90° (b) 180° (c) 120° (d) 45°

87) 2(p QUITIHET @@H FLOGH6T 6l CBHITEHES U 6TedTm CousSHSIL 60T 6 CHMEoISEH 6V, IQHGSG GHHTEH BETHMS. QUITIHEHSHGLD
HNbussHmHGLlenL_Gul sliLjemln HengFGeausLh

@ VvV ([ 2V (c) 2Vcos O (d) 2Vsin 6

88) ep(H HLIKl6dT 2 WIFLD 6 LS. S600T600TTIQ U6 H60TSH (DWW 2 WTHMS &Mevor eGSR MTY. 2 1S 2 wWrsHev Griymer LIDLSNS
Sl6UT SHTEOTHRMTT 6T60 160 Sl 6TEUAIMS Ibl1q ?

@ ¥l () el () Fgerd (d) gsidleeme

89) 40 Q&S aUe6Te] ST W G 1quieTmev 2 HeaumeH&LILGILD LNbhLSens el Qumerfler 3j6mea] @) (H DL MG 6Teflev
LNDhUSH 6T Q& MTen6ve

(a) 10 @& (b) 20 Q@&FLS (c) 40 Q&S (d) 30 Q&S

90) e2(H QLIMHETMerTS! 20 QF LS Gellw STIenL &GO b uiledT (6T 10 Q&FLS-60 maUESLILIGMEUNTS 3 QFLS 2 WFLNem LUl
Mibuib
(@) Amlw, Grrmer LMWL (b)) Quflsrésliul L, Ghymer LTWLUD  (¢) WsEFRMW, SemeuSBLpmer Qoul LIDLILD
d) Wslauflsmsasliul L GHImeT GQUILNDLLD

91) ep(H UGB 6eoTS B 60T FlWT Nlw, sevorevormqUiledT GalWSTFD 30 QFLS. 2 x 4 x 1.7 152 Lfliomevoren LW IDMGMITIH 6UMTSHEOTLD,
(PSHEVITEUS! QUITE60TS D) 60T & 6v0T6ooT TILUNO BB 9 m Q& Tenevailey 2 6TeTal, 6T6vflel (LNSH6V 6UITE60TS D) 60T & 600T600T TLY.UT 6V
GHITEO0TE Fon Q. ULI @) [JE0OTL_ITLD 6)ITEH60TE S 60T [H16M6V 6T60T60T P

(@) 30 &S (b) 60 QFLS (c) 90 @FLS (d) 9 Q&FLS

92) 6(IH QMG 0TS H 60T LIN6OTLIM 2_(Hememallq el & evoreoorTLqUI6dT auemera] QuTlD 10 Q&FLS. aflevedler euemerITLiLNeor Hem@pld 10 Q&FLS.
21U BHE L OBHF6T 3 enmerid HeooTL_ Q& memeva 6Tedflel, LIMT&ELILIMWD Ljeud Gigulentley

(@ 0.5 (b)) 1 (¢ 2 (d 4

93) (h GO bl LDMMID FLoG6emLIquilesr LUFLILNeNBHS 20 QFLS-6V 6(H 6fl(HLD QUITIHET eme6usasLILIL (HeTemgl. ereorGe,
@ TevoTIq. VD 2 (HAUMESLILGD WTWLINIDLUMBIGET 6&5He06). FING6T bl WTeTd QUTIHEflemhS 2 QFLS. QS mTemnevaley @) H5 eV
&6l <plquilerr Gellw grgn_

(a 5518 (b) 10 @FLS (c) 20 Q&S (d) 40 Q&FLS

94) @@ Qe &L 5 Q&L BT wg &Lol lquler FR T 108 emaussLUILUGSMS. 31quiler Gallwgryn 10 Q&FLS.
G601 DL Qoul ImmID 2 (BLGUIMHSSLILILLSI. @ (WemeT HLlenw QHTHSH M 6reflev 2 (BLIQLIHE LD

@ 1 (b)2 ()3 (d 4
95) LYetreumeusoreumnilev 6T& QILIMHET16T eTeveLT Hlem&serflanin mwl, GrImer LNDLSGeNS 2 (HeUTs LD ?
(@) &l Qevetreg:  (b) G Qevedta:  (c) el @plg  (d) b LHMID C @revor(HLd

96) e(H G 2plqUledT GNWSTTID f. 62(H QLIMTIHETTEOTS! f 6T60TM QG MeneVaNl6L EMLOWISEH 60T (LN6T eMeU&HS& LG GUME! LhuLD
2 (HOUMGSLD QFHTMEVEY

(@) wigeNed (b) feb (o) f/2-60 (d) 2f- 6

97) e GLP 9Llq GFmgHemeTuilev e QUTHT GNWSH O BHEH FHTmevallsh malsH&LILMR WD GUTE LD
SMNWSH O BH S X260 2 [HUTH MG, 6Tevflev 1 UIN6T GeIWSTITLD

@ zzy (b)) /ZT1Z2 (0 iﬁ (d) \/%

98) ef& MmN CT GL.&H6V 2 6TeT HTMemMLI QUTHSHaen] eerflallevsev eTevor B &FILLG
(@ 2 wrh P& NEs, 9B 6HeEs (b)) 2 wrh Gonw, Gmnw () 2 wrlh HH&FE5s Gamul
(d) 2wrh GmDbs AHHsKH&EsS

99) Gefly NFCaHaFmIsafley Hamgenl GHMTESH GF6 QlFaeL_

(a) adarmefles@d (b)) Qeullu mw e6fls CGammmId (o) eeflaflevsey eTetor B GGG (d) emeTSSID
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100) B eurmh ellevmii& & erfledt LIMTeneus Gomeoorld LDMMIBlemevs o meoTs S 6o LstTal(hld 6ThS 2emellel &L HLILMSSLILGSH MSI?

(@ ic (b)) 2ic (c) 3ic (d) 4ic

101) |1.euemeray emloWLDd (L)(a)C&smerd ulq LIFLILesr enouwlliLeTerf]

2. 9419 (LN6DI6OT (D)(LLSH TN F&FEHG QFRIGHHTSH 2_6T6T H6TLD

3.l &y (f) (c) GBS IT6OOTE H) 60T 6MLOUILD
QLI (LNEMEITE G LD (NG 6Tenld GNUSH MEGLD 2_6T6rT
Q& MMV

4 @allw serin (d)

cabd |dabic |bdical |cladb

102) 1. |0B(H &S 2 (BLAL[HESLD (a) c/v
2. |2 HLGLIHSHSLD (b) d/n
3. 26155 F 60T sperflafleuasev eTevor (c) I'/1
4.GxMMM 419 FLo6eoTLIMT(H) (d)h'/h
(@) (b) (c) (d)

dabc |cdlabl |laldbid |clab/d

103) L6LBEUMI 61600T600T RIS 66V TIPS LILIL L TS SIG6T60r LG (2615 IT, LIFME, DEHEF6T, LDMMILD FlaUlIL]) FLOG6TE & 600T600T LY
R60TM TS LILIL(H6TETSI. 6THS 61600T600TE H6V 6TWRSLILIL L 6TDES H & 2 WISH 6L G&5flun?
() Feuliy (b) WEHF6T (c) LUFeF (d) 2eTGHT

104) ssmenBImS Smerfler g 1 mm @ emLGQeueflulley @ evor(h GeuaTemeT BIMLIL 6Terflger &mevorLiLI B &leormert. GHMTTMULNTS 3 mm
L L e w allflQevesrerv 2_aTem alliflufleotmev @ LiLemeflgeT LMT&sLILIB S erment. allfluflermev @ LiLeTeflBemens QgefleumsLl
LUGSSI LUMI&HHEF QU QLIBLOES 65 Temn6v6)] eredreor?[LIWeTLIBD sperflulledr ojemevBerin = 500 nm)|
@ 1m M 5m (¢ 3m (d) 6m

105) I lnmmiLd 41 e FQ&EMla]&6T Q& mevor @ evor(h ememnm MHIM flUiev 66185 MemM S 6T 6260TMIL 60T 6260TM)
GLMELMBHSIT TM60T. QMG LW6T LIDLSH 6T FMESHUIMTET QLIBLD MM Smin seflEQaFneaser wenmEul
(@ 5IwmmibI (b)) 5Twmoun 31 (¢) 9T wmmib I (d) 91 wmmild 31

106) 5 x 107 cm &1906T Q& MevoTL. GFMLILL LILevSH et 151 sperfl el &P mal. sHevoresnim LGHullev eTHQTmeflliL SiemLbS
eperflufledt QLIHLD j6m6v Hemid 5320 A° eTenflel GFMLUILLI LIL6VE B 60T eerflelleusel 6T600T 6T60T60T?

(@ 1.22 (b) 1.33 () 1.51 (d) 1.83

107) 1.0 x 10 cm, &H6evld Q&mevor sememmLi LNemalleormev eFmUILD aeflerflibjellemerafletr (g ev Flminih 30° eTevflev,
LweTU®SSLILIMGILD sperflulledr jemeuBeTid 6T6oT6or?
(@ 400 A (b) 500 A () 600 A (d) 700 A

108) &HevoT600TTIq.& &L () epedTMl6or 158 60° CHMeoTEH eV eflaaH T allWwHMmE. erHarmefliiL mmild seflallevdHsy emLHS
Refl&HEHIE6T @ TeooT(HLD RETMISGHQSHTEOTN QFBIGHSTEH 3|6MLNHEHT6V, 85600T600T T UIN 6T 6p6rleNl6VEH 6V 6TEUOT 6TELEUETEY?
@ V3 B3 @,/ @2

109) LL&H 6L ST LUl (eTeT wmbl @rLlenlLi Leme opulellev. e SI606T &6ooTevor Tl spedTMleoT ey L LILIO&mS! eTevflev, eminulLl]
QU(BLOLD 6THIE eMLOU|LD?

SHE0UTEUUTTR.  PLPg Slemiy

(a) SPCHTHH QLLGUWGL (b)) CLGHTHES @LILAUWGBL () BICHECW QSTLIHS @ (HEESLID
d) Q&THSSLILLL eNlermhiseT GLIMSILTeTE 606V
110) BIG&sMeL UL L&D auflulmg:gd QFeuavid eperfl
(a) UG serallemere] AemLWD (b)) FHemellemerey HMLWTH  (€) (WNWEUSILD HeTallemene] jemL LD

(d) BeTeul LIomsg SHerallenere] &jemL D
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111) /3 sperfleleuds 6L 6T6voT Q& MTEvOTL. 62(IH C&HITETSH U6 S 6voTevorTIQUN6L 6 LiaTerflulleh 60° LIHIGHTeoTEHFHL (b S!
alevEemL G CHMTaTEHSH a6 CBHITH QF6TM eNeVGERHT THTLILESHSFH60 THQTmaflliLb ellevsad L HmS.
ABSLUIUTLILN erRQpmerflliLs &HHHGI0 al6vE&EHH [(HE G @)L GuimeT G&ImTeorLd

(@) 50° (b) 60° (c) 90° (d) 40°
112) 1 m 2 WFenL U @H 6MLILIET 62(H &6l 21 uI6dT (LN6dTETTEV BIM & edTmmedt. blquNedBHS D aueT BIME&LD Q& Temevea]
g uier GANWSHTISHMGSGE Fold. LNDLUSSH 6T 2 WFLD

(@ 025m (b) 0.33m (c) 0.5m (d) 0.67m

113) ssmmnilev f GNWSTTID Q& M6t 62(H G SplqemUl 1 = % eeflallevsev eTevor Q& MevoTL HIfl6L MEUSHTEL 56T GG HTTLD

(@ f () 3f (o) 3f (@) £

114) HenrsH @G LD QUTIHEHSH G @6 CUIWLTeTsS Q& memeva] 90 cm @ e6ueilgeooriq M@ @emLulley emeud sl L GellGeveiren
@ mBlemeusserfley Hemgullerr g LNDUBI&G6TS CHTHMNGERMS. QeVaTF 6T @) (H HleMaVEHEHSHEG @ LILL L& Q& Temeva| 20cm
6Teofl6L QeVetTF 60T G S STITLD

(@ 21cm (b) 21.3cm () 24cm (d) 20cm

All the best

L R e R S R et e R s Rt
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ARTHI EDUCATIONAL CENTER

unit 7,8 creative one mark

10th Standard

Maths Date : 10-Nov-23
Reg.No. :
Mr Deepak M.Sc.,M.A.,B.Ed.,DCA.,TET-1.,TET-2.,
Mrs Arthi B.E.,
Exam Time : 00:45:00 Hrs
Total Marks : 114
I. ANSWER ALL QUESTION 114x1=114

1) The radio of base of a one 5 cm and to height 12 cm. The slant height of the cone
@ 12cm (b) 17cm  (¢) 7cm  (d) 60 cm

2) If S; denotes the total surface area at a sphere of radius ¥ and S, denotes the total surface area of a cylinder of base radius ¥ and height

2r, then
(@ S1=S2 (b) S; >Sy (¢ S1<Sz (d) S1=28;
3) A cylinder 10 cone and have there are of a equal base and have the same height. what is the ratio of there volumes?
(@) 3:1:2 (b) 3:2:1 (¢ 1:2:3 (d) 1:3:2
4) How many balls, each of radius 1 cm, can be made from a solid sphere of lead of radius cm?
(@ 64 (b) 216 (c) 512 (d) 16
5) The volume of a frustum if a cone of height L and ends-radio and r; and 15 is
(8) smhi(r®+rp%+riry)  (b) imh(ri?+rp%-riry) () mhir®+r®+riro)  (d) mh(r*+ro%-r11ry)
6) The height of a right circular cone whose radius is 3 cm and slant height is 5 cm will be
(@ 12cm (b) 4cm  (c) 13cm (d) Scm

7) It S; denotes the total surface area of a sphere of radius r and S, denotes the total surface area of a cylinder of base radius r and height

2r, then
(@ S1=82 (b) S1 >Sy (o) S1<Sz (d) S1=28;
8) The ratio of the volumes of two spheres is 8 : 27. If r and R are the radii of sphere respectively, Then (R - 1) : r is
(@ 1:2 (b) 1:3 (c) 2:3 (d) 4:9
9) The radius of a wire is decreased to one-third of the original. If volume the same, then the length will be increased _______ of the original.
(@) 3 times (b) 6times (c) 9 times (d) 27 times

h
10) The height of a cone is 60 cm. A small cone is cut off at the top by plane parallel to the base and its volume is [é} ! the volume of the

original cone. Then the height of the smaller cone is
(@ 45cm (b) 30cm  (¢) 15cm  (d) 20 cm
11) A solid frustum is of height 8 cm. If the radii of its lower and upper ends are 3 cm and 9 cm respectively, then its slant height
is
(@ 15cm (b) 12cm  (¢) 10cm (d) 17 cm

12) A solid is hemispherical at the bottom and conical above. If the curved surface areas of the two parts are equal, then the ratio of its

radius and the height of its conical part is

(@ 1:3 (b) 1:4/3 (o) 1:1 (d) /3:1

13) The material of a cone is converted into the shape of a cylinder of equal radius. If the height of the cylinder is 5 cm, then height of the

cone is

(@ 10ecm () 15cm  (c) 18 cm (d) 24 cm
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14) The curved surface area of a cylinder is 264 cm? and its volume is 924 cm?. The ratio of diameter to its height is
(@ 3:7 (b) 7:3 (¢) 6:7 (d) 7:6

15) When Karuna divided surface area of a sphere by the sphere's volume, he got the answer as % What is the radius of the sphere?
(@ 24cm  (b) 9cm (c) 54cm (d) 4.5cm

16) A spherical steel ball is melted to make 8 new identical balls. Then the radius each new ball is how much times the radius of the original

ball?
@35 O F ©3 @3

17) A semicircular thin sheet of a metal of diameter 28 cm is bentt and an open conical cup is mader. What is the capacity of the cup?
() [%} V3em?®  (b) 3004/3cm®  (c) [%] V3em?  (d) [%} V/3em?

18) A cone of height 9 cm with diameter of its base 18 cm is carved out from a wooden solid sphere of radius 9 cm. The percentage of wood

wasted is
(@) 45% (b) 56% (c) 67% (d) 75%

19) A cylinder having radius 1 m and height 5 m is completely filled with milk. In how many conical flasks can this milk be filled if the
radius and height is 50 cm each?
(@ 50 (b) 500 (c) 120 (d) 160

20) A floating boat having a length 3m and breadth 2m is floating on a lake. The boat sinks by 1 cm when a man gets into it. The mass of
the man is (density of water is 10000 kg/m?)

(@ 50kg (b) 60kg (c) 70kg (d) 80 kg

21) Kamalam went to play a lucky draw contest 135 tickets of the lucky draw were sold. If the probability of Kamalam winning is %, then the

number of tickets bought by kamalam is
@ 5 (b)) 10 (c) 15 (d) 20
22) If a letter is chosen at random from the English alphabets {a, b....,z}, then the probability that the letter chosen precedes x

@ £ @® L ©22 @4

23) A purse contains 10 notes of Rs. 2000, 15 notes of Rs. 500, and 25 notes of Rs. 200.0ne note is drawn at random. What is the
probability that the note is either a Rs. 500, note or Rs. 200 note?

@1 ® I ©2 @32
24) The lateral surface area of a cylinder is developed into a square whose diagonal is 21/2 cm. The area of the base of the cylinder (in cm?)
is
(@ 3r (b £ ()« (d) 6r
25) How many metres of cloth 2.5 m wide will be required to make a conical tent whose radius is 7 m and height is 24 m?
(@ 210m (b) 220m (c) 230 m (d) 240 m
26) The total surface area of a hemisphere of radius 10cm is
(a) 942.86 cm? (b) 900 cm? (¢) 300 cm? (d) 592.86 cm?2
27) The curved surface area of a right circular cone of radius 11.3 cm is 355 cm?. What is its slant height?
@ 8cm (b) 9ecm  (¢) 10ecm  (d) 11 cm
28) The curved surface area of a right circular cone of height 15 cm and base diameter 16 cm is
(@ 1467 (b) 1167 (c) 1267 (d) 1367
29) The ratio of total surface area to the lateral surface area of a cylinder with base radius 80 cm and height 20 cm is
@ 1:5 () 2:3 (¢) 5:1 (d) 3:2
30) The surface arae of a sphere of diameter 'r' is
(@ 2m2  (b) 72 (o) % (@) =

31) The total surface area of a cone whose radius is % and slant height 21 is (sq.units)

(@ 27r(l+7) (b) 7r (l+ %) (€ mr(l+r) (d) 27rl

32) The slant height of the frustum of a cone is 4 cm and the circumference of its circular ends are 18 cm and 6 cm, then the curved surface

area of the frustum is (cm?)

(@ 12 (b) 24 (c) 48 (d) 54
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33) If two solid hemispheres of same base radius 'r' are joined together along their bases, then the curved surface area of this new solid is

(sq.units)
@ 4nr2  (0) 6mr2  (c) 3wr2  (d) 8mr?
34) C.S.A of solid sphere is equal is
(@) T.S.A of solid sphere (b) T.S.A of hemisphere (c) C.S.A of hemisphere (d) none of these

35) x and y are two cylinders of the same height. The base of x has diameter that is halt the diameter of the base of y. If the height of x is

doubled,the volume of x becomes
(@) equal to the volume of y (b) double the volume of y (c) half the volume of y (d) greater than the volurne of y
36) The Area of the base of a right circular cone is 78.5 cm? and its height is 12cm Find the volume
(@) 341 cm® (b) 314cm® (¢) 301 cm® (d) 304 cm?®
37) The curved surface area of a cylindrical pillar is 264 m? and its volume is 924m3, then its diameter is
@ 12m () 183m (¢) 14m (d) 15m
38) The volume of the sphere in 38808 cm?, then its surface area is
(@) 5544 cm? (b) 4455 cm? (¢) 4545 cm? (d) 5454 cm?
39) The volumes of two cylinders are as a : b and their heights are as c : d, then the ratio of their diametersis ________ (cubic units)

G I IV R C VR

40) A hemispherical container with radius 6 cm contains 325 ml of milk. Then the volume of milk that is needed to fill the container

completely is
(@) 124.75ml (b) 127.45ml (c) 217.45ml (d) 117.45 ml
41) The external and internal diameters of a hemispherical bowl are 10 cm and 8 cm respectively, then the volumeis ____ (cm
(@) 121.87 (b) 121.78 (¢) 128.71 (d) 127.81
42) If the volume and surface idea are numerically equal then its radius is
(@) 2 units (b) 3units (c) 4 units (d) 5 units
43) If the radius of cone is reduced to half, then the new volume would be
@ $(Gmh) 0) tn(5)°h @ dn(5)h @ g7 (7)) (5)
44) If the volume of sphere is 367 cm?, then its radius is equal to
@ 3cm () 2cm (¢) 5cm  (d) 10 cm
45) A right circular cylinder of radius 'r' cm and height 'h' cm (h > 2r1) just encloses a sphere of diameter
(@ rem () 2rem  (¢) hem (d) 2h cm

46) Two cones with same base radius 8 cm and height 15 cm are joined together along their bases. Then the surface iuea of the shape so

formed is
(@) 854 cm? (b) 860 cm? (c) 864 cm? (d) 870 cm?
47) A cylinder circumscribes a sphere. The ratio of their volumes is
@ 1:2 (M 3:2 (¢c)4:3 (d 5:6
48) A sphere and a cube have the same surface area. The ratio of their volumes is
(@ v6:ym (b) /3:4/7 (c) m:4/2 (d) None of these
49) A sphere of radius R has volume equal to that of a cone of radius R, the height of the cone is
@ R (b) 2R (¢) 3R (d) 4R
50) A cone is 8.4 cm high and radius of its base is 2.1 cm. It is melted and recast into sphere The radius of the sphere is

(@ 42cm () 2.1cm  (¢) 24cm  (d) 1.6 cm

51) A spherical iron ball is dropped into a vessel of base diameter 14 cm, containing water. The water level is increased by 9% cm What is

the radius of the ball?

(@ 35cm (b)) 7cm () 9cm  (d) 12 cm
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52) Three solid spheres of gold whose radii are 1 cm, 6 cm and 8 cm respectively are melted into a single solid sphere. Then the radius of

the sphere is
@ 7cm (b) 8cm (¢) 9cm (d) 10 cm
53) A copper sphere of diameter 18 cm is drawn into a wire of diameter 4 mm. Then the length of the wire is
(@ 143m (b) 243m (c) 343 m (d) 443 m
54) A hemispherical bowl of internal radius 9 cm contains a liquid. This liquid is to be filled into cylindrical shaped small bottles of diameter
3 cm and height 4 cm. How many bottles will be needed to empty the bowl

(c) 44 (d) 54

(@ 24 (b) 34
55) If are event occurs surely, then its probability is

@0 (M1 (5 (@32
56) Two dice are through simultaneously the probability if getting a double is
5 1 1 1
@2 ML ©°L @ .
57) A girl calculates the probability of her winning in a match is 0.08 what is the probability of her losing the game
(@ 91% (b) 8% (c) 92% (d) 80%
58) A number x is chosen at random from -4, -3, -2, -1, 0, 1, 2, 3, 4 find the probability that |x| < 4
1 1
(b) 1 () 5 (d) 5

(@) O

59) which of the following is true?
1 1
(d —5 > P(e) <35

(@) O<p(e)<s1 (b) p(€)>1 (c) p(e)<O
60) IF the probability of the non-happening of a event is q, then the probability of happening of that event is

@ 1-g () g () q/2 (d) xq

61) The mean of first first 10 odd natural number is

@ 5 (b) 10 (c) 20 (d) 19

62) The standard deviation is the of variance
(c) square root (d) cube root

(@) cube (b) square
63) The variance of 5 values is 16. If each value is doubled them the standard deviation of new values is

(d) 16
X, is . If each observation is multiplied by p, there the mean of the new observations

(@ 4 () 8 (c) 32

64) The mean of a observation x;, Xg, Xa,

is
@ 2 (o) pz (o) T (d) P+z

65) Sum of deviations of a variable from its mean is always

@0 (1 (g2 (d5

66) In statistics, distance or dispersion from central value is classified as
(@) stanard variance (b) sample variance (c) standard root (d) standard deviation
67) If a digit is chosed at random from the digits 1, 2, 3, 4, 5, 6, 7, 8, 9 then the probobility that it is odd is

(€ 1/9 (d) 2/3

(@) 4/9 (b) 5/9
68) Which of the following is not the probability of accurance of an event?

(@ 0.2 () 0.4 (¢ 0.8 (d) 1.6
69) The standard deviation of a data is 5. If each value is multiplied by 2, then the new variance is

@ 3 (b) 100 (c) 10 (d) 225

70) The range of first 10 prime number is

@ 9 (b 20 (¢ 27 (d) 5
71) If the smallest value and co-efficient of range a data are 25 and 0.5 respectively. Then the largest value is

(@ 25 (b) 75 (¢) 100 (d) 12.5
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72) If the observations 1, 2, 3, ... 50 have the variance V; and the observations 51, 52, 53, ... 100 have the variance V5 then
W
Vy

@2 (b1 (3 (o

is

3z+5

1 » then the standard deviation of y is

73) If the standard deviation of a variable x is 4 and if =

@ 4 (b 3.5 () 3 (d 2.5
74) If the data is multiplied by 4, then the corresponding variances is get multiplied by
@ 4 (b) 16 (c) 2 (d) None
75) If the co-efficient of variation and standard deviation of a data are 35% and 7.7 respectively then the mean is
(@ 20 (b) 30 (c) 25 (d) 22
76) Th4e batsman A is more consistent than batsman B if
(@ CVofA>CVofB (b) CVofA<CVofB (c) CVofa=C.VofB (d) C.VofA=C.VofB
77) If an event occurs surely, then its probabllity is
@1 (o0 (5 (@ F
78) A letter is selected at randam from the the word 'PROBABILITY'. The probability that its is nota vowel is

@ & ®F ©F @F

1

79) In a competition containing two events A and B, the probability of winning the events A and B are 2

and % respectively and the

probability if winning both events is
1 5 1 7
(@) 2 (b) ED) (c) 12 (d) 12
80) A nuber x is chosen at random drom -4, -3, -2, -1, 0, 1, 2, 3, 4. The probability that |z| < 3 is
3 4 1 7
@ 5 (M 3 @3 (g
81) If the probability of non-happening of an event is, then probability of happening of the event is
(@ 1-q () q () 53 (@ 2q
82) In one thousand lottery tickets, there are 50 prizes to be given. The probability of happenning of the event is
(@ 1-q (b q (0 3 (d 2q
83) When three coins are tossed, the probability of getting the same face on all the three coins is
1 1 3 1
(@) 3 (b) 1 (c) 3 (d) 3

84) A box contains some milk chocalates and some coco chocolates and there are 60 choolates in the box. If the probability of taking a milk

chocolate is % then the number of coco chocolates is
(@ 40 (b) 50 (c) 20 (d) 30
85) Statistically, spread or scatterness of observations in a data is called
(@) Discriminant (b) Dispersion (c) Range (d) Standard deviation
86) Mean of squared deviations of some observations from their arithmetic mean is called

(a) Standard deviation (b) Variation (c) Median (d) Mode

87) Positive square root of mean of squared deviations of some observations from the arithmetic mean is called

(a) Standard deviation (b) Variation (c) Median (d) Mode
88) Sum of deviations of a variable from its mean is always

@ o0 (b1 (g2 @5
89) Standard deviation of first 50 natural numbers is

(@ 45.43 (b) 14.43 (¢) 20.43 (d) 16.43

90) Standard deviation of population is denoted by
@ 2 () w (o (d A

91) Price of apple per kg for three days are as 98, 97,100 then the value of standard deviation with assumed mean method is
(@ 15 (b) 10 (¢) 1 (d) 11

92) In statistics, distance or dispersion from central value is classified as

(@) Standard variance (b) Sample variance (c) Standard root (d) Standard deviation
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93) Range of the scores 80, 90, 90, 85, 60,70,75,85,90, 60, 80 is
(@ 30 (b) 70 (c) 90 (d) 40
94) Coefficient of range of 5, 6,7,8, 9,54 is_______
@ 3% OF ©F @F
95) If the total sum of squares is 20 and sample variance is 5, then total number of observations are
(@ 15 (b) 25 (c) 4 (d) 35
96) The average of first 'n' natural numbers is
(@ " b)) § (© 4 (@ n
97) If mean is 25 and standard deviation is 5 then co-efficient of variation is
(@) 100% (b) 25% (c) 20 % (d) None of these
98) is used to compare the variation or dispersion in two or more sets of data even though they are measured in different units.
(a) Range (b) Standard deviation (c) Co-efficient of variation (d) Mean deviation
99) is used to criterion of consistence is for consistence performance
(a) Range (b) Standard deviation (c) Co-efficient of variation (d) Mean deviation
100) If the co-efficient of variation of marks of Brinda is 25% and that of Buvana is 40% Who is more stable in scoring?
(a) Brinda (b) Buvana (c) Both (d) None
101) If a digit is chosen at random from the digits 1, 2, 3, 4, 5, 6, 7, 8, 9 then the probability that it is odd is
(@ 2 (M 2 (© 3+ @2

102) In a single throw of die, the probabitityof getting a muttiple of 3 is
@3 b3 ©¢ @3
103) The probability throwing a number greater than 2 with a fair dice is
@3 ® 2 ©3F @3
104) A card is dropped from a pack of 52 playing cards. The probability that it is an ace is
@7 b & © &% @2
105) The probability of a certain event is
(@ 0 () 1 () 3 (d) Notexists
106) The probability of an impossible event is
(@ 0 () 1 () 3 (d) Notexists
107) Which of the following is not the probability of accurance of an event
(@ 0.2 () 04 (c) 0.8 (d) 1.6
108) Probability of getting 3 heads or 3 tails in tossing a coin 3 times is
@3 O @2 @3
109) A fair die is thrown once. The probability of getting a prime (or) composite number is
@1 (B0 (2 (@ 31
110) If P (E) = 0.05, then P (not E) =
(@ -0.05 (b) 0.5 (c) 0.9 (d) 0.95
111) WItich of the following statement is wrong.
(a) ANB is an event that occurs only when both A and B occurs
(b) AUB is an event that occurs only when at least one of A or B occurs.  (¢) Ais an event that occurs only when A does not occur
(d) Bis an event that occurs when B occur
112) AUA =
@ 0 () 1 (¢ (dS
113) AN A=

@ 0 () 1 ()¢ (dS
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114) p(AUB) =

(@ P(AUB) (b P(ANB) () P(AUB) (d) P(AN B)
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